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W C=120°},A=180°-(B+C)=30°=B
AABC H5EE = TE.

(IR 72 AABC s I AC=2,BC=3, cos A=+

3R (1)sin B;(2)sin(23+%) :

%ﬁ:(l)EAABCEF,'.'cosA:—%,.'. i

2 ST AG S v VAGsn A =288 2
- HIESE }E%snA e b e e
2) b B=—52—,

3
o cos B=++/1-sin> B=%, | 1—(%) =i\/ﬁ

i 10 (J;AABC nh afub 73 o= m’ B=30° ?'JH&EAABC ,
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H
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(1){EBH :sin a+cos 28=0; B

(2)# AC=,/3DC, 3k B HIfA.

B 1-1.1-11

|11 4EAABC th £ A, B, C Bt i
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. _ 1
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1] AL 45 °F 9 77 [ 4K B8 AT B A, BOR KL R AT IS R R
AR, KHLE) AT B LR R A9BSR 800 km 3T T /09

5. (%1% ) 7E AABC EiﬂﬁA-—ﬂwc 2.3 % ffB=x,
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s a* =b*+c® —2bccos A.
[FIHATE : b° = a® +¢* —2accos B,

¢* =a*+b*-2abcos C.

1-1.2-4
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¥£ Rt ABDC W, BC* =CD*+BD? ,
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sin A, I8 HIKT AABC TR

ccos A) -

RN PR A

BB 7 Wk — o Fh E 9K 5 TR A 9 A, A St T Ay |

a’+c*-b’ b’ +c* -a?
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A, HE B EF1.23584)

aic E"{]K
SH AT AL EBR T T a,c M5 FR4 R AT
i e, 12

C

~sin c"

sin A

a c
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